Your Notes

Solve Muiti-Step Inequalities
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Your Notes

o Checkpoint Solve the inequality. Graph your solution.
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Your Notes

@ Checkpoint Solve the inequality, if possible.
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Rl Y S Solve a multi-step problem

Cell Phone Your cell phone plan is $35 a month for
1000 minutes. You are charged $.25 per minute for any

- additional minutes. What are the possible numbers of
additional minutes you can use if you want to spend no
more than $50 on your monthly cell phone bill?
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Check Point 5 Follow steps in Example 4

Car Wash

Use the sign shown. A gas station charges
$.10 less per gallon of gasoline if a customer
also gets a car wash. What are the possible
amounts (in gallons) of gasoline that you
can buy if you also get a car wash and can
spend at most $20?
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